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~ Suppose that we have the preorder sequence 1,2,3,4,5,6,7,8,9 and the in order sequence
2,3,1,5,4,7,8,9,6 of a binary tree. Please draw this binary tree structure. (10%0o)

SRR R R R Y s R B hA R i iRy o 5 TCP/IP &t i
A eha & B 5 (20%) -

1A 8%

FwET H 2R S L (20%)

(1) 410 &4z 0320 #4522 &4 -

(2) 7410 2412 0320 #4516 &4 -

(3) 3416 412 0320 #4 5 284 -

(4) ;ﬂ—:tés—%i 3 REE R | ek XORFE o
(5) FH#% 4 [ HHEEEE | 4L % L XO0RE £

" o

PP RE R - AR 0 3 B R A R HEE G ARG AR © odp R 4 )3
% 5 4v s B 5 61 FlErfEdr R 5 600 dpi (dot per inch) » F & pE% 5 >4 %
AR A A BEF S ) P eng 2 (10%)

P2 & (cloud computing) ? Z 838 & ¢ 7 SaaS-~PaaS {v laaS = &% F PRi+# 3] »
A ‘%41 A2 o (20%)

(#3348 R)



